In which year [ng;
A 1998
C 2008

Which of the folloy
A Karkoram
-7 Pir Panjal

C_B).

Banihal

C  Zoji La- Banihy). Ba
Khardung

District
Jammu
Bandipora w
Udhampur - —
Kishtwar

- Ted B

A Onlyland2

R Uegared PPolio- free?

. K
¥ing mountain range strmml’::’

- Which of the follow  passes located in No hha L
Wing is the correct seguence 01 P o1 7aii La- Bara Lac
A Zojl La. Rh:“dtl:‘:: Iltir;n&c:!ﬂ:;l{i.u- B ihal- Zojt L3

Which of the following is/ure correctly matched pair(s) =

1! Ar.:i.umrr-c-um-:_”-.... .-

Pe

2014
p 197 |
ashmir Valley from Jammu region?
Nun Kun
1] Zanskar

wth dircctinn'.'

Khardung- Bar

-hha La-
anihal- Barat Lm..hh.i

Whi - Zoji Lu-B
ra Lachha La- th.lrtiung, Zoji L

[.ake
Dol
wanashal
Mansar
Sukhsar

JK StudyPulse

[Dé{)nl}' 2and 3

ﬁtln]y Jand 4 D Onlyland4

)/ Kandi land is characterized by numerous torrents, hilly soils and scarcity of water. It lies between:
A Raviand Chenab rivers B Jhclum and Chenab rivers

C  Ruviund Beas rivers - D Indus and Jhelum rivers

Q-/ In which year the All India Harijan Sangh was founded?
.~
A 192] B 1929

G 1932 D 1937

Rabindranath Tagore renounced his knigisWrmcsl of-

& Jullianwala Bugh Massacre

: : Nan-Cooperation Movement
C.  Civil Disobedicnce Movement D

Montagu-Chelmsford Reforms

Which of the following district has lowest s;:x ratio in the U of J

Census)?

A gjouri
> Ganderbal
”

of the following state?
A Telangand
¢  Himachal pradesh

B < Kupwara
D Poonch

yakshagana, arich folk dance-drama in which women artists

ammu & Kashmir (Ag per 2011

0 not participate, j
*SPopular
n “"hich

A~ Kamataka

D Rajasthan




P —

)

D Chhattisgarh
" L
Q; j Which of the following pives *Global Gender Gap Index” ranking 16 th
]
XA

i
F\Q IJA"huLm\'a Rice™ is a special class af semi-glutinous winter rice. Which state has received

(‘ Q15. Which of the following is the corre

Who has been appointed as new Cabinet Scerctary of India,
A Pradeep Kumar Sinha B Rajiv Gauby,
C TV Somanathan D T.R. Prasyg

Which of the following state is not covered under Gove

announced in Unjon Budge1 20247
A Hihill‘

C  Odisha

urvodayy'

plan ns

B Jharkhand

. countries of the world?
UN Human Rights Council B World Economic Forum
(‘.f_,,Wl_I()

D UNESCO

Legal Right B Fundamental Right
¢ Conh‘lilutinnanighl D None

(ﬁ Iiighl 10 vote in India is p- J K StUdYPUlSG
7 !

Geographical Indication (G1) tag for Chokuwa rice?
T Assam -

B Tamil Nadu
C . Andhra Pradesh

=D Manipur

ctsequence of glaciers located in west to east direction?
A Hispar- Ballora- Biafo- Siuchcrf)t' B Siachen- Iispag-fiafo- Baltora

C Hispar- Rialo- Rallora- Siﬂclwn ]ln[[nr, - Sidchen? _}infu- Hi_qpar

y/‘ By Whom, the 1857 revolt was interpreted as a *planned war of national independence™?
A Dr.S.N. Sen

B Dr.R. C, Majumdary

C V.D. Savarkary, D SirJohn SL‘C'L‘}').'

Match the following institutes in correct manner to their locations—

Institute of national importance l'.lac-: .

(a) Institute of Nuclear Medicine and Allied Sciences (INMAS) r.u Delhi .
(b) Centre for Artificial Intelligence and Robotics (CAIR) | inb Chandipur
(¢) Defence Research & Development Establishment (DRDE) u‘u] chg-.la‘.uru
(d) Integrated Test Range (ITR) (iv) Gwalior
A a- i b-iv oc-dii d-ii B a-ii beili ¢- 11. d- 1
C a- i b-ili  c-iv  d-ii D a- v b-i it dedii

Y

is practiced
‘Usta ant”, also known as Gold nakashi work due to the prominence tllfo"d‘-";“I‘;lt‘::r'ﬁ:: ::: o)
on camel hide and wood. Which state/UT has got a Geographical Indication (Gl) lag
A Uttar Pradesh B Rajasthang
C Madhya Pradesh D Gujm

Guats




iy

Kerfes-A

L Sy ) I-. \'1 1‘

Fe Ny [ BIMS
@"- ":.:'I:::‘-l:"n;“l- lhl|: r“"mﬂ"E nations Is not? '11;::;1
‘ : : . ra e
f A Tt el and Fggnomic COPE 7 Nepal
] lllﬂﬂl‘l[l ¥ vic"““ﬂ B '?
i C . Bhutan n 19 10 India
/'\ ; awer Project’
S ‘hukha fiydrop
ﬁf”’wlﬂl iy from Tula and Chu ’
( (/J‘I}/ 'llt‘:cnunuy has n"‘ﬂl:.‘-:]mrtc!-:clﬂfll-" p China
A Nepaly ' r
\—‘/ C  Bhutans B MRS (hrough 20
: ms -
z . ation Ecosystc goned 1N
B\ A Memorndum of derstanding (Mol)) on --Enh;mc!“!:{_‘jﬂ;imial Dialogue Wi3 e
: n 5130 - apr
Innovalion ”ﬂ"d-"-llﬂkc" I:l:;i:l' the fmmcwﬂfk ni: hllﬂll.ml .0
November 2023 between which of the two cuun[ncﬁ(',hjnu- Russin
A ia- i
!,r Inr.ll_a UISA . D lIsrael- Ukraine
| C  India— Russia
| / oo Ghar Muft Bijli Yojuna™?
y.f Which of the following is not correct about “PM Suryd Cihar ) h
. @ Under the scheme, households will be
A Itaims o light up ) crore houscholds ;ided with a subsidy cover of 40 per centitq
by providing upto 300 units of free pFuvt

.

i ; ancls ir roofs.
t install solar pancls on their ro
electricity every month. :

= ; The scheme was launched in Novemb

C  The scheme will promote the, yse, of’
renewable energy. Jk §U d y P UI Se
Which of the Jollowing statement(s) isfare correct regarding Zika virus borne diseases?
I. 1ts intection during pregnancy can cause infants to be bom with microcephaly.
2, Zika virus is transmitted primarily by Aedes mosquitoes.
3. It is also transmitted through sexual contact.
4. It can nol be transmitied through transfusion of blood.

nd 2 only B 2and3only
.2 and 3 only D All of the above

er 2023,

Find out the incorrect pair among the following -
Convention/ P'rotocol  Subject/Related to
o noven [ . v . . 1 ;
. ;nn.tb-:uil: Protogyl Biosalety to the Convention on Biological Diversiyy
2. Nagoya Protocole  Proteetion of health and the environment from the )

adverse etfects of mercury,

3. Ramsar Conventioni&protection and CORseTv:

ation of wetlands
4. Kvoto Protocal . '
I. Kyoto P . Trunshoundary Movements of Hazardous Wasteg d
: an

their Disposal,

‘_,,-"""J._-_ - o
Only Izmdﬁ j B Only2and3p0
Only 2 and 433 ) d D Only‘l and 3 4

_‘,f

Which of the Tollowing threatencd animal is endemic o 17y o

’ : ol Jam .
A Hangul or Knshmir Red Deer 1 B Kishmir s .klm: &Llia‘_:hmlr?
C  Snow Leopard D usk Deer

Himalayan Tahr or Kray




Series-A o “Clm-Typiy Pogt code- 73 ) \
7 g We walked the park. '

26 ¢
9 A~ through B at
C on D awny
74

7

Q21 The past participle of *bring" is:

h g A brought B bringed ¢
C brang D brung
|
Q 1’ Which verb tense is used to express a future action?
A present perfect B past p{:rfECll
S/ future simple D present continuons
JM( Complete the sentence with the correct verb form. “If Lhad known, I helped you.” X
| A Would have ﬂ will A
C Would 1lad
r
As/n. Identify the correct spelling: JK StUdyPUISe f
B
” A miscelancous miscellanious
S~ miscellancaus D miscellaneus
/_."".
.} Which spelling is correct?
‘\‘ /A uccurence B occurance
& occumrence D occurrance
'3/./ Choose the correct spelling:
A privelege B priveledge
L7 privilege b Privilegge
f : . The antonym for “practical” is:
A practicalless B i”nramica]
L impractical D ROPractic|
@ Synonym for *intransigent’.
A ﬂcxi'hlc B COMPromising {
C  obstinate D yiclding |
Antonym of ‘laudatory’. .
A critical B praising . ’
C  admiring D complimentary 2
/04/ Sheds proficient __ playing the piano.
A of A a
C on D with
'
// The book is divided chapters.
7 into B by g
C with D on




TM

-

Sefted -A

{ by them.

e’ Is: wil
e i | them.

QI The passive VOlcg f o anew b
A7 A new biig They are huilding A new hridg 1l be built by
Be s I"th'l[_- purilt by therm. pe wi

. sy b ew brid
C A new h“lh'.l" hl“ I‘Qtll. h“ill h} them. An

, g
QM9 Which verb tense i el 1o eApress a habitual action: foct
. A DPresemt petfect wo P it tinuous
. = i i
£~ Present sim I FReTR
simple
_Q 4o, Correct spelling is : i
A questionnatree B questionaif
A questionnaire B

~ . : .
0'“/ What docs the idiom "to bum the candle on bath ends” mean’
To reveal n secrel.

= A Toclean B
o8 Can up n mes: g
C Tobe W'I'},'pnngr::“ P~ Tolive inan unsustainable mannef.
‘pﬂ. The idiom “to let the et aut of the hil}:" means:
i A Tobuyacal n AT Toreveal asecret
C  Tobeintrouble D Tobevery lazy
__'?f-u// The idiom "o kick the bucket” means:
A7 Todic B Tobe happ
C  Tobeungry D Tobesueoeasul

ou " Choose the comect tense form to complete the ""‘“L"J‘K St u d y P u I S e

! (watch) TV when the phone rany.
A+ Waswatching B watched
L" Have been watching D Wil be watching

Q45 Choose the correct tense form to complete the sentence
; She (study) for three hoyyy before she went 10 bed
A Has studied = I
B Had studied

sludies
D Will study

Chouose the right order to mak 4

meaningful sentence: Does
. R ' gty ] ce: Does not care h
4 (2)! is very probably (3)/ not much waorth (4y of educatior d 'f‘"‘“ 4 ]'I Jﬂ“_‘"k that whk
o ] on and pood taste (5)/ reqg = =person
,,/1, 1,6,3.4,5 i N == than e
2'5'3'4 ]!6 b 1,5,3.4‘5 1 i o
3 L] L] i » L] l] 2 : '.
. Ly S.l-ﬁtl‘l Jr:

Choose the right order 10 make meaning |

_ SCNLENCe: Tnerenc:
an ever (3 are play e (4) In our lives (%) Femt I“”"“‘“B Pt (1) Cettalpy !
A 25431 Boa23 4.1 S 'Ln“@:‘n:hj!lﬂs 2
2:4.3 1,3 *h%1S o L )y
7 L850 N5;4.1,2_|

,_91/ Could you tell M€ [ o
A

bus sto
where ju the I Jr./
" wher . )
¢ s wherethe hus stop : ere the hyy stop iy

____.__-—-—-'-—-____.--___ lhc hun ilnp ls “rh:m




Serles. h‘f?"" Paxt "'"ltl'r.lﬂf-.-:um-?)',rrﬁl Post conde T

45/ Tow long have they oo, there? y
2 A Wailing jl"'r [heen walting g -
~ C  Deen waited D Whaited \, 77 -

pe.
- N 6
() &0, Ifl_h;u! more time, 1......... do more exercise, /4(0
~A7 Would no Wil

C  Am going o D Wantto

7

Q st n the following question, four groups of three numbers are given. In each group the second and
i third number are related to the first number by a Logic/Rule/Relation. Theee are similar on basis of
same, Logic/Rule/Relation. Seleet the odi nm out from the piven alternatives.
A-’ (49 ,48; 3"(” It (73.68,03)
/_“//(/,fm K9.84) D (66,61,50) ) (
T} | Three of the following four letter-clusters are alike in a certain way and onc is different. Fick the )
m!d one out. P
(' mJ D MQU

}M./ S isson ol M. R js the futher of @ and A, A is the daughter of M. How is A related 10 87
A At B Daughter

y r-‘l""_ Sister I Mother @—\'4 er

%ﬁ“ﬁ”‘,bfhl :T. the question mark (1) in the following scries? @ j]j ,.T
& (A
oo ;‘:i y 4 jir o A2
r',_.»uz Tyt { &'+€ n 22

Three of the following four letter clusters arc alike in o certain way and ane is dilferent, Pick the
odd one oul.

A HLPT A2 CGKO

C DHLP D XBrl

Ina family of 5 members, X is fhe sister of Y. M has two children and he §

. 15 the son of E, who is
the father-in-law of [1L 11 has only one son. Y

Is not the grand-daughter of E. Tlow is X related 10

| B
A Grand-daughter B Grandson
C  Daughter D Sister - &]J- W ¥ }
Study the following information carefully to answer 1} given yuestion: Y
M@'N means M is the wife of N -
"MUN means M is the son of N
M2N means M is the Sister of N 9 -7y
MSN means M is the father of N
Which of the following expression shows [ as the brother ol 117 .-f-t-!-"""
A 1IEPS] B hogpg
C Ial1sP D | %m[‘
——

Page gof 16




and
sl

the

—

Series=A

TN

wrist (P08l coke

Jrost Av eistinil

C

If you are facin
acing north-cast angd
¥t move | :
:‘ n n:: o 0m lorward, turn 1ot anid move 18 H" 1 L“'
orth of your mnitial posij v LA, thep -
- 12,5 m from the initial p“:.:. B southofy | 142+ ¥
,:h:j__;_e_ﬂ':z_ on N b Ill.lr‘mlll;ﬂ position
9, ]1.16, 26,7, 69 o and €
A 40 4]
c 9‘;__,,;'(W > 13 \ f:{f;
T 5 q‘ - ‘-‘.
:"_-‘I P_, 5 a u 47 "r- —
v o /
Q66 6,3.5. 45 bh i ? i &
J‘ 36. - ;?. '1‘{ = g-_ L
cC ™ B 37 33
D 405 5 WV
_—

/0 u\ Rahul is the «

u are siblings. K
. " n
Kanav is the rm: O

A Sister
C G ' . :

irand Mothgy g@(@ :: tlr:;:dr Father :)/1 g
Introdugi

ng o lady .

father of {'iunuh' ‘:!; h“_’l}' Goldy told her friend, “She is gister=in-law of my only brother who 18
children.” How ig (1.]“ is grandson of Navyi's hushand who is mY father who have anly W@
-; Brother anesh related to that lady? q\xgi, HS

Sister - Nephew

I Con'the determincd

“’hit‘h nu
mber will re
il replace the question mark (7) in the following scrics?

}3:_11 , '1‘;;111:3_ L3 ]?2 ?
i 671 g_,/ 2’0

(4,
A

{?'E-L“F}j /
A / }} fa.ﬁ,lﬁ}. ;?j/

Qél1. Select th
c sel in wide : :
" . scl, JKI!\;{*&N .[thyh:‘ﬁlhu spme Way as are the numbers of the fﬂHl‘lWI'ng
5 29 5 |

 Which pumber
yich aumber will replace the questi
3.’{;5',31"- };f 5,:5 ,cf] ut the question mark (?) in the following series?
AT 47 e B oseries’ . é
“ 3? s FEF [

52T _
Mh | Find. P
ich number will repl b |7 -
= S the 1
16, 15.21, 20, 33,7 Rlace the question mark (2) in the foll 2 &
v ! OMWTIIE SOT s

A SR
- B 43 g h
r’.q qﬂ

Dina. Rahul and Manu

au Rahul is married 10
of Rahul.

//s . father of Ma .
(qn. Mohan has only ane son. Nehal is the son
< (

han related 10 Nehal?
Yy 4X¥

llfh.l :i|

11 of Ah’l!h

—
v 1s Mo

i n 617 9 Y-
1 (2Y

lﬂ.;}}
.'I‘J-')
¥ D @122)).
- #, i';?//' N

:'L

7 4
%4

4o 035
5 ‘ LR 311

. g

%

- = 4

=303



; Paost ’f"‘nr.u.:.. - ypist (Post code; 785)
Series=A R 1
67 | ab&hhe_ "-I phi'aboh B cbgbe
r': cepge D beegb
C  cpepe l
P ,.-""__ 1 -L\ : 'il ¢ “\}
/ - MZYINWWS, OTT7, pQP11, 2 | :
U h L] - & . . - L]
A ONLI6 B MJ.h I?
& ONK17 D NBENSE
AT, | e h L'bcc__hr;h_qnhh
A cechh B cbehb
C_ beheh D hehbe
o
|
Q '?n_-’/l-'iu_;{ the term vy bl“'l%l?ﬂ not fit into the scr'uJ.K St Ud y p U | S e
P {EG. $IFUNE.S3RIY 17ve 4 -
A~ 15RD B 17VC .

C O9NE D S5IF

Walking at the speed of § km/hr from his home, a geek Misses his train by 7 minutes. Had he
walked 1 knv/hr faster, he would have reached the station 3 minues be
time of the train. Find the distance between his home and the station.

A Skm . B 6km
C Jkm D 2km

fore the actual departure

L(MT“ cover a certain distance, a geek had two oplions, cither to ride a horse or 1o walk. If he walked
e “one side and rode back the other side, it would have taken 4 hours. IFhe had walked both ways, it
would have taken 6 hours. How 1

nuch time will he take if he rode the horse both ways?
A 2hrs

B2 12 hrs

C _-1hs D 3hrs
/At the figure from among the given oplions

that can replace the question mark (?) in the
following series.

;PR
| Doy | ?f“ WA IN= G
y ' 4 EtR =7

. — ( f"{::."l,‘




'.'I‘.Il e srrrs

j which of the four

v —— 5
geries=-A / \ ’
—

n the given question

t .h.u.mm."-vc'lrm-f,l

. When openet
figures. When op

. -;jfﬂ A paper is folded iin
#

CUL gy (hown |
answer figures wi| iy o

fesemple?
e

PN [}‘\]

A e B E
4] t %
o
C (;TF s
o o0
o] (]

" . sven answer
: i ; ‘rom the g1
y”/ A picee of paper is folded and cut as shown below in the yuestion figures. I'ro

i i -7
figures, indicate how It will appear when opened?

EN|ER ﬂ JK StudyPuEse P

]

' ) i r—
g e B B2 o E
g == D[ :

_Q}/Whul does GUI stand for?” .

. A General User Inferaction A Graphic User Interfnce
C  Graphical Utility Interface D General Utility Interfuce

)ﬂ{/ What is the maximum digit used in a hexadecimal number system?

A 8 B 16
c I s
/ A rectangle symbol is usedin a flow chart to represent . ........
— " A [rocessiOperation 47 InpuvOutput
# Condition test/Decision Making D StarvSiop

Once an email has been sent to the recipients, it is O
vernenns o folder. — :
p Outhox, sent B Inbox, 5iihe
Inbox, scnl D Outbox. i

s folder o the

Once an email has been marked as not spam, then jt i moved from the

folder. | e folder
o o ‘ 0 the
A Outhox, in B Spam, trash
ﬁ Spam, inbox D Spam, outbox
— -




CerhensA

—

4

QL

#
L

P

Q8%

-

"4
86
2

’
N,

o

o

" S 'l‘h
from rows 10 1 |5 based on a condition that the values in column B is equal ©0 Tegehing W4
$me row condition Y oDy’
ﬁ*summnm:ms,wrca hing™ R10: : 1R 1§ < Teaching™. D10
BIg)" ching" . B10: p KHUMIE'(H_'D'B_
€ 4 T s e
PUMIFBIO:BIS, 'enchins‘}':a D )0 “=SUMIF(D10:D15. Tesehine)
‘\_

Qll{’

ql:.' :

/ The default ip nddress of a local machine is 127.0.0.1 wh

il forward that email 1o other recipients.

— | - DPIEON cade; 7y,
| the 1 ]
| 3 Illf‘ [[L] h“ll X .
| il ower I‘l‘lﬂ' s | e '
The ohjects that are used in o I Y O et h”'-‘d :.;
A Auto layonts 13

)V Place h"'ltl':“
C  Textholders f

..........

in MS Word 2007

f focument In M i
Ihe default file extension of o wonl de JaMa Y
A ppt

. D ppix
_[:’ Aliwx

fliter |g Veva

i : in tl
To use exactly same font type, size, and colour
Presentation, vou will........ Lo
A Useshide sorter B Use file magye
J L b I :
¢ Use format brush and make titke D7 Use slide myqye,

identical JK Stugykﬁ‘UI Se

N D

e Ii”c
of )y the slides ina Power Poimt

A local B localmuchine
‘V Localhost D Localeast

Consider the following path “C:\Tom\Documents\Tds 1"

- What is nyme of the current logged-in
wset in this path?

A B Tdsl

& Tom D Documents

The defiult method to assign an ip address to the connected clienty by a mubile hot spol internet
connection is ..........

A Static A7 Dynamic

C  Semi Dynamic D Semi Statie

If you want 1o send an email to multiple people without the receiver seeing the list of other

recipients, then which of the following is best possible approach?

A Include the other recipients email ID's
in the carbon copy tab

send email to first recipient and then D

Include the other recipients email [D's in the
blind carbon copy tab

Send the email 1o all the recipients at once with
their email 1D's separated by o comma.

(‘

Which one is correct representation of binary value (11100001101 )1 in decimal form?
A 225125

A 2255
C 25625 D 2250625

5 , : D,
Which formula is used in MS Excel to find the tot o

al salary of the employees that are in col

e ———

Scril‘!."‘"\
——_

0

Q2K




- o iarstamtcum T OO
E Fost: .'In!n‘nnr«cum-npm (Portc

78] .
— S ——  wordy/ sentences are
pem— e ﬂ.‘t TTTLLL AL A
090~ Tht"”""""'"“w“rcundﬂ“ﬂc with red colour where 3
a— ) _. . H c
underlined with green colour. \ﬁgspcufd- Geammatical r_m?m error
€ Syntax etror, Grammggical Mistahe P |
. f a computer?
. ; . : the operations 0 :
o :MT:;“‘E fallowing is esigned to control B Application Software f, C &
¥ ) nility Software T M
0ing *Gf System Software B BEEE ﬁ) ,I?i 1} "
“i
_,J’ ’ ?
Q92 Whatdocs the symbol I) represent in a hexadec imal number systemm
- A R B 16
&1 p M
ith
’ ; ions from students W1
QW  Which GDUE'E product allows you 1o collect data hy survey, quir, or questions
ad multiple choice, open-ended, and other questians? ) i
A tilhlglf n'ﬂ'l\'-'.ll'lgi J]‘f (mngle Forms
C _ Google Slides D Goaglc Docs
in Q4. LAN. WAN. and MA. h. are computer networks covering difterent areas. Their first alphabets I.,
= W, and M respectively stands for ...
A lLocal, World, Middle B Local, Wireless, Metropolitan
C  lLocal, Wide, Maximum > Local, Wide, Metropolitan =
1 )) 9/ Which generation of computers had used 1TﬂﬂdK' StUdy P UI Se
- A First Generation = Second Generallon
C  Third Genermion D Pourth Generation
Q95 The term GHz (Gigatertz) indicates which feature of o computer !
r A7 Speed B Storage
€ Screen Resolution D Number of pixels
‘9,!7. Which software is loaded first o computer main memory when you start i computer?
A MS l'.-'lﬂ'hl:c Saft B Utility Software
Softw .
y C  Application Software _ A= Operating System
i O :
Q% d:jl""h. of the fvfj;‘*ms Mot avalid function of MS excel?
; %LHHHA(. 0 B COUNT(
f P C SUM() D COUNTA()
B
' Ao Which key combination Is used in MS Exce| 1o mave the active cell 1o
) " worksheet (A1)? © the beginning . r
= workshee MR of the
i »#A  Home B Shift+ Home
C Cul+ Home D A+ Home
M’unsi der the following path “C:\Smdenu"tﬂocumtnmf}ncs 1", What |
. th? s L th
__ pa L c ﬁ]c in .
A C B~ Docs | this
¢ Students D Documents
> — i




